
DIESEL GENERATOR

S I N G L E - P H A S E :
        K D E 2 2 0 0 X / E / C
        K D E 3 5 0 0 X / E / C / T
        K D E 5 0 0 0 X / E / T
        K D E 6 5 0 0 X / E / T
        K D E 67 0 0 T / TA
        K D A 67 0 0 TA / TA O
T H R E E - P H A S E :
        K D E 6 5 0 0 X 3 / E 3 / T 3
        K D E 67 0 0 T 3 / TA 3
        K D A 67 0 0 TA 3 / TA O 3



Thank you for purchasing KIPOR diesel generators.

Failure to properly follow these precautions can result in 

property damage, serious injury or DEATH! 

Read all labels and the owner's manual before operating this 

generator.

Operate only in well ventilated areas. Exhaust gas contains 

poisonous carbon monoxide, and can be deadly. Always stop 

engine before refueling. Wait 5 minutes before restarting.

Check for spilled fuel or leaks. Clean and/or repair before use.

Keep any sources of ignition away from fuel tank, at all times.





11. Appendix 35



Generating Set

M
o

d
e

l

It
e

m

R
a

te
d

 f
re

q
u

e
n

cy
 (

H
z)

R
a

te
d

 p
o

w
e

r 
(k

V
A

)

R
at

ed
 v

ol
ta

ge
 (

A
C

) 
(V

)

R
at

ed
 c

ur
re

nt
 (

A
C

) 
(A

)

Ra
te

d 
re

vo
lu

tio
n 

sp
ee

d 
(r/

m
in

)

P
h

a
se

 N
o

.

P
o

w
e

r 
fa

ct
o

r 
(c

o
s

)

E
xc

ita
tio

n
 m

o
d

e

D
C

 o
u

tp
u

t

O
p

e
ra

tio
n

 m
o

d
e

S
tr

u
ct

u
re

 m
o

d
e

C
o

u
p

lin
g

 m
e

th
o

d

G
ro

ss
 w

e
ig

h
t 
(k

g
)

5
0

5
0

5
0

5
0

6
0

6
0

6
0

6
0

2
.8

3
.3

4
.2

5

3
0

0
0

2
4

0
/1

2
0

13
.8

/2
7.

5

3
6

0
0

3
0

0
0

3
6

0
0

3
6

0
0

3
6

0
0

3
0

0
0

3
0

0
0

40
0/

23
0

24
0/

12
0

24
0/

12
0

41
6/

24
0

20
.8

/4
1.

7
7

.9
8

.7

S
in

g
le

 p
h

a
se

1

C
o

n
tr

o
lle

d
 s

ili
co

n
 s

e
lf 

e
xc

ita
tio

n
 c

o
n

st
a

n
t 
vo

lta
g

e

1
2

V
/8

.3
A

w
ith

o
u

t

1
2

 h
o

u
r 

co
n

tin
u

o
u

s 
ru

n
n

in
g

C
/E

/X
: 
O

p
e

n
 f
ra

m
e

 t
yp

e
  
  
  
  
  
 T

: 
S

ile
n

ce
 t
yp

e

T
ra

n
sm

is
si

o
n

 r
ig

id
 c

o
n

n
e

ct
io

n

5
0

6
0

1
.7

3
0

0
0

2

24
0/

12
0

8.
3/

16
.7

3
6

0
0

T
h

re
e

 p
h

a
se

s

0
.8

 (
la

g
)

20
.8

/4
1.

7

4
.5

5

Ov
era

ll d
im

en
sio

ns
 (L

W
H)

(m
m)

K
D

E
3

5
0

0
X

K
D

E
3

5
0

0
E

K
D

E
3

5
0

0
C

K
D

E
3

5
0

0
T

K
D

E
5

0
0

0
X

K
D

E
5

0
0

0
E

K
D

E
5

0
0

0
T

K
D

E
6

5
0

0
X

/E
K

D
E

6
5

0
0

T
K

D
E

6
7

0
0

T
/T

A
K

D
A

6
7

0
0

T
A

K
D

A
6

7
0

0
T
A

O

5.
5

6
.3

K
D

E
2

2
0

0
X

K
D

E
2

2
0

0
E

K
D

E
2

2
0

0
C

C
/X

:5
3

, 
E

:6
0

C
/X

:6
5

, 
E

:7
0

, 
T:

1
4

0

C
: 
6
3
0

4
4

5
5

3
0

X
/E

: 
6
5

5
4

8
0

5
3

0
T
: 
8
3

0
5

3
2

7
4

0

X
:9

5
, 
E

:1
0

0
,T

:1
5

8

X
/E

:7
20

49
2

65
0

T:
91

2
53

2
74

0

X
:9

5
, 
E

:1
0

0
,T

:1
5

8
X

3
:9

5
, 
E

3
:1

0
5

,
  
  
  
T

3
:1

7
1

X
/E

:7
2

0
4

9
2

6
5

0
6

5
0

0
T:

 9
1

0
5

3
2

7
4

0
6

7
0

0
T

/T
A

/T
A

O
: 
9

1
5

5
4

7
7

4
2

K
D

E
6

5
0

0
X

3
/E

3
K

D
E

6
5

0
0

T
3

K
D

E
6

7
0

0
T

3
/T

A
3

K
D

A
6

7
0

0
T
A

3
K

D
A

6
7

0
0

T
A

O
3

11
5/

23
0

14
.8

/7
.4

11
5/

23
0

24
.4

/1
2.

2

11
5/

23
0

36
.5

/1
8.

3

11
5/

23
0

39
.2

/1
9.

6

C
: 5

95
41

0
51

5
X

/E
: 6

40
48

0
53

0

X
3/

E
3:

72
0

49
2

65
0

65
00

T
3:

91
0

53
2

74
0

67
00

T
3/

TA
3/

TA
O

3:
91

5
54

7
74

2



Engine

M
o

d
e

l

It
e

m

T
yp

e

M
o

d
e

l

C
on

tin
ua

l o
ut

pu
t (

kW
/rp

m
)

M
a

x.
 P

o
w

e
r 

(k
W

/r
p

m
)

B
o

re
st

ro
ke

 (
m

m
)

D
is

p
la

ce
m

e
n

t 
(L

)

C
o

o
lin

g
 s

ys
te

m

L
u

b
ri
ca

tin
g

 s
ys

te
m

L
u

b
e

 o
il 

ca
p

a
ci

ty
 (

L
)

S
ta

rt
in

g
 s

ys
te

m

F
u

e
l o

il

F
u

e
l o

il 
ta

n
k 

vo
lu

m
e

 (
L

)

L
o

w
 o

il 
a

la
rm

 s
ys

te
m

K
M

1
7

0
F

G
K

M
1

8
6

F
A

G
K

M
1

8
6

F
A

G

4
-s

tr
o

ke
, 
si

n
g

le
-c

yl
in

d
e

r,
 a

ir
-c

o
o

le
d

, 
d

ir
e

ct
 in

je
ct

io
n

 d
ie

se
l e

n
g

in
e

2
.5

2
.8

3
.7

4
5

.7
6

.3

2
.8

3
.1

4
4

.4
6

.3
6

.6

7
0

5
5

7
8

6
2

8
6

7
0

8
6

7
2

8
6

7
2

0
.2

11
0

.2
9

6
0

.4
0

6
0

.4
1

8
0

.4
1

8

F
o

rc
e

d
 a

ir
-c

o
o

le
d

 s
ys

te
m

P
re

ss
u

re
 s

p
la

sh
in

g

0
.7

5
1

.1
1

.6
5

1
.6

5
1

.6
5

C
/E

/X
: 
R

e
co

il 
st

a
rt

e
r 

  
  
  
E

/
: 
E

le
ct

ri
c 

st
a

rt
e

r
T

D
ie

se
l 0

#
 (

su
m

m
e

r)
 -

1
0

#
 (

w
in

te
r)

 -
3

5
#

 (
ch

ill
in

g
)

w
ith

N
o

te
: 
A

 is
 in

te
lli

g
e

n
t 
co

n
tr

o
l p

a
n

e
l

5
.7

6
.3

6
.3

6
.6

6
.3

6
.6

5
.7

6
.3

C
/X

/E
:K

M
1

8
6

F
G

T:
K

M
1

8
6

F
G

E
C

/X
/E

:K
M

1
7

8
F

G
T:

K
M

1
7

8
F

G
E

X
/E

:1
5

, 
C

:2
.5

E
/X

:1
5

, 
C

:3
.5

, 
T:

1
6

E
/X

:1
5

, 
T:

1
6

E
/X

:1
5

, 
T:

1
6

E
3

/X
3

:1
5

, 
T

3
:1

6

K
D

E
3

5
0

0
X

K
D

E
3

5
0

0
E

K
D

E
3

5
0

0
C

K
D

E
3

5
0

0
T

K
D

E
5

0
0

0
X

K
D

E
5

0
0

0
E

K
D

E
5

0
0

0
T

K
D

E
6

5
0

0
X

/E
K

D
E

6
5

0
0

T
K

D
E

6
7

0
0

T
/T

A
K

D
A

6
7

0
0

T
A

K
D

A
6

7
0

0
T
A

O

K
D

E
2

2
0

0
X

K
D

E
2

2
0

0
E

K
D

E
2

2
0

0
C

K
D

E
6

5
0

0
X

3
/E

3
K

D
E

6
5

0
0

T
3

K
D

E
6

7
0

0
T

3
/T

A
3

K
D

A
6

7
0

0
T
A

3
K

D
A

6
7

0
0

T
A

O
3

































11. APPENDIX

2The application of the single-core insulating cable            section mm

2The application of the multi-core insulating cable             section mm

1. The choice of the electric cable

The choice of the electric cable depends on the allowable current of the cable 

and the distance between the load and the generator. And the cable section 

should be big enough.

If the current in the cable is bigger than the allowable current, it will become over 

hot and the cable will be burnt. If the cable is long and thin, the input voltage of 

the electric appliance will be not  enough, causing that the generator doesn't start.

In the following formula, you can calculate the value of the potential "e".

The relations among of the allowable current, and length, section of the Insulating 

cable (single core, multi-core) are as follow:

(Presume that the use voltage is 220V and the potential is below 10V.

Potential (v) =                              Current (A)   3
Length

Section area

1

58

50A

100A

200A

300A

Current

Length
beneath 75m 125 20015050m 100m

8

22

60

100

14

30

60

100

38

60

125

200

22

38

60

100

22

50

80

125

30

50

100

150

50A

100A

200A

300A

Current
75m 125 20015050m 100m

14

38

38 2

60 2

14

38

38 2

60 2

22

38

38 2

60 2

22

50

50 2

60 2

30

50

50 2

80 2

38

60

50 2

100 2

Length
beneath
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The conditions of generator rated output:

Altitude:  0 m              Ambient temperature: 25            Relative humidity: 30%

Ambient modified coefficient: C   (Relative humidity 30%)

Note:  When the relative humidity is 60%, the modified coefficient is C-0.01

          When the relative humidity is 80%, the modified coefficient is C-0.02

          When the relative humidity is 90%, the modified coefficient is C-0.03

          When the relative humidity is 100%, the modified coefficient is C-0.04

Counting example:

       When the rated power of generator is P  =5KW, altitude is 1000m, ambient N

temperature is 35 , relative humidity is 80%, the rated power of generator is:

P=P (C-0.02) = 5  (0.82-0.02) = 4KWN 

2. Modified coefficient table of ambient condition power 

Ambient temperature  ( )
Altitude

(m)

0

500

1000

2000

3000

4000

25

1

0.93

0.87

0.75

0.64

0.54

30

0.98

0.91

0.85

0.73

0.62

0.52

35

0.96

0.89

0.82

0.71

0.6

0.5

40

0.93

0.87

0.80

0.69

0.58

0.48

45

0.90

0.84

0.78

0.66

0.56

0.46
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